REARBUI8Z v bHIL) =7 mFIHU —7%

Tx—F |HRE AH<ZZ |7 |55 Tv7A ([T 7B |RBEA |FEEKE |FIHABENA
EleR”7 v i 2-3 X 13-20 14-30 1-2 X 18-30 [3-3 A 1-3x 2-2/\ 3-10 6
TY—FERTRT — 16-10O 16-20 9-1 0O 5-20 2-3 X 6-0 O 2-2/\ 7-20 2
BiEeikt vy h—&8 2-130 [1-16 X 0-8 x 1-7 X 9-2 O 0-16x 1-6 % 5-10 X |[0-5 X 9
H~< &R 3-4 X 2-6 X 8-00 3-4 X 4-6 X 2-5X 5-1 O 2-11 X 3-3 A 7
TILINTD > TRER 2-1 0O 1-9 X 7-1 O 4-3 O 9-20 3-5 X 3-4 X 4-7 X 9-30 §)
N 3-18 X 2-5H X 2-9 X 6-4 O 2-9 % 0-3x 2-4 X 2-7 X 1-4 X 10
I>7L v TRERA 3-3 A 3-20 16-00 5-2 O 5-30 3-00 4-2 O 7-30 1
I>7 LT HEARB 3-10 0-6 X 6-10 1-5 X 4-30 |4-2 O 2-2 A\ 6-1 O 4
HAEKEH 2-2/\ 2-2/\ 10-5 O |11-20 |7-4 O [|7-20 2-4 X 5-30 3
SEEEBER 1-3 X 2-7X 5-0 O 3-3 A 3-9x 4-1 O 3-7 X 0-6 X 8

ZEAENIR) ) — U5k

V-7 C | EEEN T 7B [N |[HEK |BA (=3 KR (EF = =324 v
I>7 LY THRERA 6-10 3-10 9-30 4 12 21 7 14 1
TRY—FERTVRT — 4-4/\ 6-40 7-20 4 7 19 13 6 2
RBKEY 1-6 % 2-3 X 8-20 4 4 15 15 0 3
I>7L>THREARB 1-3% 4-6 X 3-20 4 6 11 13 -2 4
TILINT v THER 3-9x 2-7 % 2-8 % 4 0 9 27 -18 5
TRV -4 HEH B B K= /AR AR BT
E T 4 10 35 4 31 6
H~< &R 4 10 29 6 23 7
EEERFEESR 4 6 17 25 -8 8
RiEsit v - —&F 4 0 9 50 41 10
RASE 4 0 4 23 -19 9
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